

Suffolk County American Legion Minutes and Reports

November 3, 2023

Page 2: Meeting Minutes

Page 3: Commanders Report

Page 6: Finance Report

Page 7: First Division Report

Page 10: Second Division Report

Page 12: Third Division Report

Page 14: Fourth Division Report

Page 15: Fifth Division Report

Page 18: Adjutants Report

Page 19: Boys State Report

Page 20: American Legion Riders Report

Page 22: Membership Chair Report

Page 25: POW/MIA Report

Page 26: Oratorical Report

Page 27: VSO Northport Report

Page 28: PUFL Report

SUFFOLK COUNTY AMERICAN LEGION

Nov 3rd, 2023 Minutes

James Ely Miller Post 833

Meeting opened by Commander Ken Dolan, at 2000 hours with proper respect and ceremony. Roll Call showed 19 Posts present. Roll Call of Officers showed all present. 4 Division Commanders present, 1 absent.

We were welcomed to James Ely Miller Post 833 by Commander Bill Coderre.

Minutes accepted M/Smith, 2nd/Lindsay

Regular order suspended for presentation of Legionnaire of the Year

Award to Historian Jerry Doran. M/Beecher, 2nd/Moeller

Return to Regular Order M/Smith, 2nd/Regina

Finance Report accepted M/Smith, 2nd/ Brothers

Commander's Report Included.

Division Commanders reports are included.

Adjutants Report: Included.

Committee Reports that are Included: Boys State, Legion Riders,

Membership, PUFL, MIA/POW, Oratorical, VSO Northport

Directory: Completed, Being Distributed by Joe Regina.

Long Island National Cemetery Veterans Day Ceremony is Sunday, Nov 5^{th} , 2023 at 2 PM

Calverton National Cemetery Veterans Day Ceremony is Saturday, Nov 11^{th} , 2023 at 1 PM

Nominations: PCC Commander Steve Antonacci Reports that Kevin

Eaton, Suffolk County Adjutant has been nominated for Suffolk County Commander 2024-2025 by James Ely Miller Post 833.

Ways And Means won by Past 10th District Commander Robert Smith.

Old Business: none

New Business: Commander's appointments to replace vacated

Committee Chairs for Suffolk County and 10th District,

Suffolk County

Budget & Finance: Tom Wagner

Constitution & By Laws: Bill Coderre

Protocol: Phil Barczak

10th District

Bowling: open

Directory: open

Constitution & By Laws: Bill Coderre

Protocol: Phil Barczak

Motion to except Smith/ 2nd/Ordmandy

Sick Call: PDVC Commander Phil Gomez, keep him in our prayers. Legionnaire George Penny Post 861 and Neil Marturiello Post 1848 passed away. Rest In Peace

Good of the Legion:

On Oct 8, 2023, Suffolk County American Legion received notification via email from P10DC Robert Shadler that he was resigning from all his duties with Tenth District and Suffolk County American Legion.

Wilson-Ritch Post 432 thanked all who turned out to Remembrance Ceremony of the 40th Anniversary of the Beirut, Lebanon attack on the Marine Barracks.

Pearl Harbor Post 1941 will be having a Pearl Harbor Day Ceremony on Dec 7th, 2023 at 12:30 pm in Calverton Cemetery.

The next County Meeting is on Dec $\mathbf{1}^{\text{st}}$, 2023 at Chelburg & Battle Post 388 Sag Harbor

Meeting closed at 2127 hrs with proper ceremony and respect.

Kevin Eaton, Adjutant

County Commander's Report Nov 3rd, 2023

10/6/23: Presided over County Meeting at Rusy-Bohm Post 411 Islip

10/10/23: Attended Internment of WW2 Veteran, Bernard J. Sweeney Jr. at Calverton National Cemetery.

10/20/23: Attended 2nd Division Meeting at West Islip Post 1738.

10/22/23: Attended the 40th Anniversary of the Beirut, Lebanon Bombing of the Marine Barracks at Veterans Memorial Park, Port Jefferson Harbor.

10/24/23: Attended 10th District Meeting at Babylon Post 94.

10/28/23: Attended Suffolk County Legislative Breakfast at Rusy-Bohm Post 411 Islip.

Suffolk County American Legion

Financial report

4-Nov-23

For the period ended October 31 , 2023

General Account:

opening Balance

34,068.30

		Deposits:				
<u>Date</u>		remitter	A	mount		Description
	6-Oct	Rusy bohm 41	11	44.00		PUFL
	11-Oct	W+M		145.00		
		C+Y		70.00		
		Aux		536.50		cdr visit
		jnl ads		580.00		
	31-Oct	Interest		3.33		
		٦	otal depos	its	1,378.83	

Disbursements

4,215.20

Dispursements				ents	
	Check#		<u>Date</u>	Amt.	<u>Description</u>
		1805	10-Oct	100.00	L. Huey Poster winner
		1830	10-Oct	300.00	SAL CDR project
		1830	10-Oct	1,422.55	Post 94 Bar Dept Cdr visit
		1830	10-Oct	177.58	M. Pankowski Printing Prog
		1830	10-Oct	340.00	M. Pankowski Cdr Bkfst
		1830	10-Oct	150.00	Post 411 Mtg food
		1830	16-Oct	205.47	Checkprinting
		1830	17-Oct	208.55	R. Santo web fee
		1830	17-Oct	70.00	R. Smith Budget printing
		1830	23-Oct	150.00	Post 944Mtg food
		1830	23-Oct	615.06	Dist 10 per capita
		1830	23-Oct	86.99	R.robesch Cdr visit cake
		1830	25-Oct	359.00	Brady Agency Bond
		1830	30-Oct	30.00	Support Comm Calverton

	Ending ba	Ending balance		
	Monies held:			
	SAL	1,828.50		
	PTS	PTS 1,716.12		
	VAVS	2,700.00		
	3rd Div	5,030.00		
	1st Div	1st Div 709.12		
	Total		11,983.74	
Boy's State		22,946.52		
Savings		7,522.63		
CD		26,201.70	-	
		56,670.85		
	Total All accounts	87,902.78	:	
	Total available	75,919.04	•	

Total disbursements

AMERICAN LEGION – Suffolk County November 2023 Report



First Division Report:

Meeting Date: None

Host: HSJ Post 1218

Only (1) Post RSVP – no other responses received.

Meeting for October 23 cancelled due to no participation

Review of 1st Division Officers:

1st Division Vice Commander: Lenore Brathwaite

Adjutant: Joe Regina

Finance Officer: Mike Brothers

POST Updates / Reminders:

- Meeting Dates: Agreed to keep meeting date the 2nd Monday of each month. Email reminder will go out to all Post Commanders
 next meeting scheduled for November 13, 2023.
- Post(s) actively working on local Veterans Day Events.
- Save the date: Participation encouraged Legislative Breakfast at Islip Post 411 10/28/2023

- Suffolk County High School Oratorical Contest
 December 9, 2023. 9:30 am 12:00 pm, Joseph Loeffler Post 1006
 198 First Street, Brentwood, NY 11717
- Buddy Checks shared the importance of doing buddy check calls.
 Encouraged to make calls during Veterans Week, or American
 Legion Birthday Week. Shared resources found on Legion.org to
 help with calls to include the Veterans Crisis Line.
- PUFL reminder to make timely payments.
- Membership Reviewed Report received on 10/20/2023 from SCAL Membership Chair Fred Tartaglione.

<u>Greenlawn Post 1244</u> – Commanda Trisha will continue her term along with the assistance of Past Commander Donna Boyle. Few members have stepped up to fill open positions.

- Only Post in the town of Huntington that has a Veterans Day event on 11/11 @11 am.
- Annual Cemetery Cleanup that work with the Jr's from the fire department - (3 Minute Men Buried there 1 volunteered at 64 Years old Revolutionary War – Historical Site)
- Plan on working with students visiting schools: Vets in the classroom
- Oratorical students have a few from St. Pius school.

Babylon Post 94 – 1st No Updates

Amityville Post 1015 – No Updates

Feustel-Kurdt Post 1120, Lindenhurst- No Updates.

<u>Hunter Squires Jackson Post 1218, Amityville</u> – Post has (4) phase plan of major post clean out. Post currently in Phase (2). Slow progress but

still moving along. Commander will be speaking at Amityville Village Veterans Day Parade.

Northport Post 694 – Scheduled to visit November's Monthly Meeting

Huntington Post 360 – No Updates

Sgt. John Sardiello Post 1634, West Babylon – No Updates

<u>Wayne Middleton Post 1839, West Babylon</u> – Transitioning in progress.

Next Meeting: Monday November 13th Location Post #1634
Respectfully Submitted,

Lenore Brathwaite 1st Division Vice Chairperson 631-805-7199



Suffolk County American Legion November 3rd, 2023 Second Division Report

The Second Division meeting was held at West Islip post 1738 October 20 8 out of 11 posts were present. We had a quorum to discuss business. Business discussed.

Membership and reports.

The County Adjutant Kevin Eaton reports every week in the News You Can Use.

As far as membership and reports are concerned, which was once again discussed.

Once again membership is everyone's responsibility.

2nd Division Dues: \$30.00 per Post were collected. Those outstanding can make their checks payable to American legion Second division, and brought to next second division meeting or mailed, to Roby Johnson

A brand-new 2nd Division American legion banner was generously donated by Roby Johnson and John Digilio.

Among other things discussed was.

PCC Testimonial

Roby Johnson spoke about. Past Commanders Testimonial for Steve Antonacci, tentatively scheduled for February to be held at Rusy-Bohm. Many clothing and Food drives will be coming up, keep our Veterans in mind. No one should go cold or hungry, especially our Veterans. We as the American legion have a responsibility to make sure this doesn't happen.

Nov 8: Rusy-Bohm will be visiting local schools.

Nov 9, 2023: 100th Anniversary of Donald C. Munro Post 944. Military Ball to be held at the Smithtown Landing Club.

In addition, many posts will be holding veterans' day celebrations please keep an eye out for emails and in news you can use

10/10- Funeral for Sgt. Bernard Sweeney who was K.I.A 12/16/1944. His remains were just identified and returned. And was well attended. A very touching ceremony and procession

10/22-Attended the 40th anniversary of the Beirut Bombing attack remembrance ceremony Port Jefferson was also well attended.

discussed were what charitable organizations we would like to donate funds out of our Budget.

Reminder to book your room Mid-Winter Conference Jan 19-21

October 28, 2023 – 9 a.m.: Legislative Breakfast at Rusy-Bohm Post was well attended by second division posts.

Next 2nd Division Nov 17: Smith-Wever Post 651 1830hrs for food. 1900 hrs. prompt start of our meeting

Respectfully submitted.

David M Isaacs

AMERICAN LEGION 3rd DIVISION – SUFFOLK COUNTY DEPARTMENT OF NEW YORK BROOKHAVEN TOWN, LI, NY

October / November 2023 Monthly Report

At our last 3rd Division meeting held on Friday October 13, 2023 at the William Merritt Hallock Post 155-Lake Ronkonkoma, there were 5 Posts present. They were: John R Cacioppo-Post 1848-Medford, Selden-Post 1633, Wilson Ritch-Post 432-Port Jefferson Station, Harbor-Post 417-East Setauket and William Merritt Hallock-Post 155-Lake Ronkonkoma.

Minutes of Previous Membership Meeting of Friday October 13, 2023 were Read and Accepted.

Membership – Which is Always mentioned at our meetings. Individual Post Standings and Goals were Discussed. As of this meeting, the County Membership was at 58%. The Goal is for Suffolk County to be at 65% by November 11.

Unfinished Business / Old Business – Our "200 Club" Fundraiser was discussed. The Rules and Regulations were Presented. Ready to move Forward.

New Business – From Harbor Post 417-East Setauket, 2 Members were "Scammed". In lieu of that, the Post asked and called on the Suffolk County Police Department Financial Crimes Unit to make a Presentation. The Presentation was very well received. It was also announced that Multiple Scams are going around. Be Careful out there.

Good of the Legion – An announcement was made about the upcoming Beirut Lebanon Bombing Remembrance Ceremony Commemorating the 40th Anniversary of the Horrific Attack. The Ceremony will take place on Sunday October 22, 2023 at Veterans Memorial Park, Port Jefferson, NY at 10:00AM. All are invited to attend.

Sick Call – Phil Levy, Dominick Gilio, Jeffery Ott, William Merritt Hallock Post.

Children & Youth – The 3rd Division Children and Youth Fund is continuingly growing. We are keeping up the Good work.

Thoughts and Prayers were said for Phil Levy, Dominick Gilio and Jeffery Ott.

Our Next 3rd Division Meeting will be on Friday November 17, 2023 at William Merritt Hallock Post 155 – Lake Ronkonkoma. 115 Church St. Dinner starts at 6:00pm. Meeting at 7:00pm.

Report Submitted by:

Ulf Moeller, Commander Richard Knutson, Adjutant 3rd Division Suffolk County American Legion's Business Meeting held on 3-November-2023. Suffolk County American Legion Vice Commander. Fourth Division Commander's Report:

Suffolk County American Legions Fourth Divisions Posts:

- (1) Alfred Grebe Legion Post No. 1045-Fisher's Island. This post has nothing to Report
- (2) Mitchell Legion Post No. 281-Shelter Island.

 This post reports that the Men's Bowling League is back in service. This post is also having Friday Night Dinners for Legionnaires and Boosters.
- (3) Burton Potter Legion Post No. 185-Greenport.

 This post reports they held a Blood Drive. Also post members marched in the annual Maritime Greenport Festival Parade. This post is on an active membership recruitment drive. The North Fork Girl Scouts sent thank you cards for post members thanking them for their service to our Nation.
- (4) Riverhead Legion Post No. 273. This post has nothing to Report.
- (5) Griswold-Terry-Glover Legion Post No. 803-Southold.

 This post reports a WALK4VALOR Event was held on October 22nd at 8AM at the Southold Legion Post. The purpose of this Walk is to bring to the attention the serious number of veteran suicides occurring each year. The distance of this Walk varied from a short distance to twenty-two miles in length. About forty people took part in the Walk. About \$12,000 was raised. These donations were broken down into six scholarships to assist children of veterans. The Southold Post Commander and post members attended the Funeral Procession of long lost WWII Veteran Sgt. Bernard Sweeney Jr held at Calverton Cemetery. The North Fork Girl Scouts also sent thank you cards to this post's legionnaires thanking them for their service.
- (6) Raymond Cleaves Legion Post No. 861-Mattituck. This post held an American Legion Memorial Wake Service for deceased post member, George Penny on October 21st in Mattituck. Post members also attended the Funeral Procession Service for WWII Veteran Sgt. Bernard Sweeney Jr. Post 861's Chaplain attended a NOA Service on October 11th at Calverton Cemetery. Fourteen names of deceased veterans were read and honored. The North Fork Girl Scouts also sent thank you cards to legion members of this post thanking them for their service.

This is the Fourth Division Commander's Report for November, 2023.

Respectfully submitted by, Rob DeVito Suffolk County American Legion Vice Commander



SUFFOLK COUNTY AMERICAN LEGION 5TH DIVISION

REPORT FOR 3 NOVEMBER 2023

The 5th Division met on 24 October at Hand-Aldrich Post #924 in Hampton Bays. Posts # 388, 419, 834, 924 and 1545 were present. Welcome remarks were made by post commander John Lenihan and dinner was served prior to the meeting. The following reports were received:

- 1. EAST HAMPTON POST #419 Post will host reps from Eastport V.A. at on 3 November at 6:00pm, as a follow-on to their visit to Post #388 in September. Post members will participate in Amagansett Elementary School Salute to Veterans on 9 November. Post will participate in Main Street Veterans Day parade on 11 November, with ceremonies immediately following at Hook Mill and reception at post thereafter. Facility rentals continue to go well, post will host training for food service inspection certification on Saturday, 6 January.
- 2. CHELBERG & BATTLE POST #388 Post completed repainting of 155mm howitzer. Post will participate in Sag Harbor Elementary School 'Salute to Veterans' on 9 November. Veterans Day parade will commence at 10:00am on 11 November. Post will host Veterans Day dinner starting at 6:30pm on 11 November. Events subcommittee working on plans for Bingo starting in January. N.Y. State Gaming Commission certainly doesn't make it easy. Post planning joint Christmas party with Auxiliary on 11 December. Added 10 names to memorial wall in post ballroom, total now up to 524. Post hosting meetings of Sag Harbor Yacht Club on 3 November and U.S. Coast Guard Auxiliary on 21 November.
- 3. MALCOLM ROSS WHITE POST # 433 Met w/post commander subsequent to meeting. Post will co-host ceremony in Agawam Park at 3PM on 12 November. Two representatives of the British armed forces one Army and one Royal Air Force will present wreaths in honor of American service members lost in past wars. This is part of a 'linking' initiative connecting Southampton with its namesake city in southern England. Pipers and the Southampton High School Chorus will participate and a reception will be held immediately afterward at Prospect & Main (the former John Duck, Jr.). All veterans are welcome to attend.
- 4. HAND-ALDRICH POST #924 Post now working on list of Korean War vets to add to 384 WW2 names on memorial wall outside post. Hosted Lions Club bingo on 3 October, proceeds to fund service dogs for vets. Post sponsored visit to LT Michael Murphy Museum on 18 October, received personal tour by museum director. Hosted 'Rocktoberfest' on 21 October w/Mean Gene & the Flamethrowers, all proceeds to go toward Memorial Wall additions. 28-29 October, post manning booth at San Gennaro Feast to recruit new members & sell 50/50 tickets for wall fund. Post notified by NY State that they have been approved for \$75,000.00 grant to install elevator. Paperwork continues. All building permit paperwork in, but informed by Town Building Dep't .that it may be 3-4 months before permit is issued. Post initially charged \$6,055 in fees,

but Cynthia McNamara intervened and got fees reversed. In total, she has saved post over \$9K to date. Post CDR advised that on Wednesday, 25 October, Mariners Patriotic Club will host Veterans Appreciation Dinner from 4:30-6:30 at Southampton High School. 13 November post will be distributing turkeys to veterans in need.

- 5. ARTHUR ELLIS HAMM POST #834 Adopt-A-Highway program going well, next highway day out is 20 November. Highway department sign now up. Work on new post headquarters to start in January. On 10 November the post will participate in Warriors of Rock Salute to Veterans and First Responders at Westhampton Performing Arts Center at 7PM. Post reaching out to help Westhampton Rehab Center. Post will participate in Honor Flight next May.
- 6. EASTPORT POST #1545 Post members participated in the visit of the Traveling Vietnam Wall on 7 October. Post member selected to be grand marshal of this year's Veterans Day parade on 5 November in Center Moriches. On 2 November post members will attend annual Veterans' Appreciation Luncheon hosted by Raynor Country Day School. On 3 November post members will attend Town of Brookhaven Salute to Veterans.. Renovations at post continue. Post received word from U.S. Army Tank-Automotive and Armaments Command (TACOM) that they have been approved for loan of 105mm howitzer for display purposes. Post will hold its own Veterans Day ceremony on 11 November.
- 7. Div CDR Reminded all posts of ongoing 'Buddy Check Month' in October. Briefed posts on upcoming dues increases. Shared current membership numbers with all posts, stressed that the sooner they get their renewals in, the sooner he and County would stop pressing for them. Briefed posts on large turnout for burial of SGT Bernard Sweeney at Calverton. Reminded posts of SCAL Legislative Breakfast on 28 October and next County meeting on 3 November. Briefed posts on upcoming midwinter Conference on 19-21 January. Of note also, the Sag Harbor VFW Post #9082 is currently sponsoring a display of the Veterans Crisis Line on the large electric sign boards on Sunrise Highway on the west side of the Shinnecock Canal. The display, which any organization may sponsor, runs for 2 weeks and costs \$500.00. Contact the Shinnecock Indian Nation offices for additional details. See photo on next page.
- 8. Next meeting of the 5th Division will be held at 6:30PM on Tuesday, 28 November at Eastport Post #1545.

Respectfully Submitted,

P. E. Gerecke P. E. GERECKE

Commander, 5th Division



ADJUTANTS REPORT Nov 3rd, 2023

Remember Legionnaires if you have a Report you want to speak about on the floor at the County Meetings, Then your Report must be written and submitted as an Official Document of the Suffolk County American Legion.

Kevin Eaton SCAL Adjutant

Boys State Report

jbeecher@optonline.net <jbeecher@optonline.net>

Fri 11/3/2023 2:17 PM

To:Eaton, kevin <Kaeaton760@outlook.com>;Dolan, Ken <kgeod@optonline.net>;Beecher, Jim <jbeecher@optonline.net>

Legionnaires, Boys State is fast approaching! Hope that all posts have thier committees and finances lined up for the upcoming year. We expect that applications will be going online in the first weeks of next month.

Boys State is from June 28thm 2024 thru July 3rd, 2024. The price is still \$600 per delegate. Location is still at Morrisville State College. Boys State is a week that changes the lives of the young men that attend our program.

Boys State attendence has been increasing since COVID and we are expecting good numbers this year. This means that we need more people to help work at the program. Please if you are interested in being part of this let us know so we can get your information to the right people.

If I can be of assistance, please do not hesitate to call me.

For God and Country,

Jim Beecher

631.255.0456 jbeecher@optonlinbe.net



November 3, 2023,

American Legion Riders Suffolk County Report

Suffolk county riders participated in the following through Nover 3, 2023.

- 10/3- Escort " The Wall That Heals "
- 10/4- Escort the Wall that Heals Nassau to Tanner Park Lindenhurst.
- 10/5- helped assemble the wall that heals.
- 10/8 Ride for P.T.S.D. with Rolling Thunder and Marine Corp. League
- 10/8-Morning Group Ride to the wall that heals.
- 10/8- assisted in the disassembly of the wall that heals.
- 10/9- Funeral for Eric Powers Vietnam Veteran. US Army
- 10/10- Funeral for Sgt. Bernard Sweeney who was K.I.A 12/16/1944. His remains were just identified and returned. A very touching ceremony and procession
- 10/12- Assisted in "Enduring Care" with distributing items to Veterans in need.
- 10/13-members attend the street renaming ceremony for fallen officer Richard Lopez
- 10/15- attended the Project 9Line Allstar Band performance at Stonybrook Veterans Home
- 10/17- Funeral for Thomas McGuire U.S.US ARMY
- 10/18 -Funeral service for 1 of our own P.T. Tom members of Post 1244's Riders, whose brother John returned his remains back to L.I. where service was held at LI National

10/22-Attended the 40thy anniversary of the Beirut Bombing attack remembrance ceremony Port Jefferson

10/28- Vietnam Metal Ceremony for 36 Veterans Long Island Cradle of aviation

1028-Attended the legion sponsored legislative Breakfast

All chapters are planning Veterans Day attendance in various locations as well as food and clothing drives.

Donations included this month.

Post 1006 family donation to the Beacon house for the holidays

In addition, Chapter 651 made the following donations.

Building Homes for heroes \$250.00

Pal O mine Equine therapy \$200.00

Wreathes across America \$100.00

Warrior Ranch foundation \$100.00

Americas vet dogs \$200.00

David M. Isaacs Suffolk County Chairman

American legion Riders

Membership Report as of November 3^{rd,} 2023

Comrades,

As of 10/27/2023 we as Suffolk County are at 63.93% of our membership goals for November. With a little more effort from our Posts with less than 65% membership we can achieve National's goal of 65% by November 8, 2023.

Department of New York 2024 Membership as of 10/27/23

Including all HQ Transfers

Suffolk Co

				0/ 1					
Post	Name	Location	New	PUFL	Renewal		Totals	Goal	% of Goal
NY-									
0094	Babylon Inc	Babylon	2	22	101	0	125	269	46.47
<u>NY-</u> 0155	William Merritt Hallock	Lake Ronkonkoma	3	16	99	2	120	153	78.43
NY-	Villiam North Tallock	Lake Ronkonkonia	0	10	33		120	100	70.40
0185	Burton Potter	Greenport	0	6	21	0	27	44	61.36
NY-									
0269	Patchogue	Patchogue	0	24	18	0	42	136	30.88
<u>NY-</u> 0273	Riverhead	Riverhead	1	10	58	0	69	101	68.32
NY-									
0281	Mitchell	Shelter Island	1	11	61	0	73	111	65.77
NY- 0352	Leisure Glenn	Ridge	1	1	25	0	27	36	75.00
NY-	Leisure Gleriii	Riuge		1	23	0	21	30	73.00
0360	Huntington	Huntington	0	17	32	0	49	68	72.06
NY-	D 01 1	5 0					4.0	0.0	0= 00
0365 NY-	Bay Shore Inc	Bay Shore	0	2	11	0	13	20	65.00
0388	Chelberg Battle Inc	Sag Harbor	1	10	64	0	75	117	64.10
NY-									
0411	Rusy-Bohm	Islip	1	8	54	0	63	93	67.74
<u>NY-</u> 0417	Harbor	Setauket	2	23	20	0	45	50	90.00
NY-	Tidibol	Cotaditot		20	20	0	10	00	00.00
0419	East Hampton Town	East Hampton	1	16	63	0	80	143	55.94
NY-	Will Div I	D . I		07	444		407	000	04.44
0432 NY-	Wilson Ritch	Port Jefferson Sta	3	37	144	3	187	306	61.11
0433	Malcolm R White Inc	Southampton	0	4	1	0	5	6	83.33
NY-									
<u>0580</u>	Nathaniel H Topping	Bridgehampton	0	0	0	0	0	0	#DIV/0
<u>NY-</u> 0651	Smith-Wever	Sayville	0	16	30	1	47	82	57.32

		SUM:	46	416	1876	7	2345	3668	63.931
<u>NY-</u> 2016	Farmingdale State College	Farmingdale	0	0	0	0	0	0	#DIV/0
NY- 1941	Pearl Harbor Memorial	Port Jefferson	0	0	10	0	10	23	43.48
NY- 1888	Brunn-Prchal	Rocky Point	1	0	21	0	22	20	110.00
<u>NY-</u> 1880	Leisure Village	Ridge	0	0	0	0	0	2	0.00
<u> 1848</u>	John R Cacioppo	Medford	0	8	17	0	25	36	69.44
1839 NY-	Wayne Middleton Inc	North Babylon	0	2	1	0	3	10	30.00
1766 NY-	Irving Hart	Setauket L I	0	3	7	0	10	12	83.33
1738 NY-	West Islip Inc	West Islip	1	10	49	0	60	98	61.22
<u>1635</u> NY-	Four-S	East Islip	3	8	7	0	18	19	94.74
1634 NY-	Inc	Park	2	8	59	0	69	106	65.09
1633 NY-	Selden Sergeant John Sardiello	Selden W Babylon-Deer	0	7	12	0	19	27	70.37
1545 NY-	Eastport	Eastport	0	9	53	1	63	81	77.78
1533 NY-	Arthur H Clune	Mastic Beach	3	11	53	0	67	119	56.30
1244 NY-	Greenlawn Inc	Greenlawn	6	10	105	0	121	155	78.06
1218 NY-	Inc	Amityville	0	4	9	0	13	24	54.17
1152 NY-	Sherwood Brothers Hunter-Squires-Jackson	St James	0	7	8	0	15	64	23.44
114 <u>6</u> NY-	Joseph Kovarik	Bohemia	0	7	34	0	41	59	69.49
1120 NY-	Feustel-Kurdt Inc	Lindenhurst	0	13	41	0	54	88	61.36
104 <u>5</u> NY-	Alfred R Grebe Inc	Fishers Island	0	6	1	0	7	11	63.64
<u>1039</u> NY-	Herold-Tierney	Central Islip	0	2	1	0	3	9	33.33
1015 NY-	Amityville	Amityville	0	4	13	0	17	29	58.62
1006 NY-	Joseph Loeffler	Brentwood	0	16	39	0	55	85	64.71
NY-									
<u>0924</u> <u>NY-</u> 0944	Donald C Munro Inc	Kings Park	3	13	33	0	49	96	51.04
NY- 0924	Hand-Aldrich	Hampton Bays	2	6	46	0	54	101	53.47
<u>NY-</u> 0861	Raymond Cleaves	Mattituck	2	6	16	0	24	25	96.00
NY- 0834	Arthur Ellis Hamm	Westhampton	0	3	86	0	89	87	102.30
NY- 0833	James Ely Miller	Smithtown	0	14	131	0	145	151	96.03
<u>NY-</u> 0803	Griswold-Terry-Glover	Southold	1	12	88	0	101	192	52.60
<u>NY-</u> 0694	Northport	Northport	6	4	134	0	144	204	70.59

POW-MIA Report

For the month of October 2023

The remains of four of our fallen comrades have been recovered, identified, and returned to their loved ones.

WORLD WAR 2 : December 7th 1941 - USS California

Navy Seaman 2nd Class Stanley C. Galaszewski, 29,

Europe_____:

Sciacca Sicily

U.S. Army Air Forces 2nd Lt. Gilbert H. Myers, 27,

Hürtgen Forest

U.S. Army Staff Sgt. Woodrow F. Gerdes, 31,

<u>KOREAN War</u>: U.S. Army Pvt. 1st Class Charles A. Dickman, 17,

Currently from WWII, there are 72,137 still unaccounted for. 7,486 still missing from the Korean. 1,578 American servicemen and civilians still unaccounted for from the Vietnam War, 5 missing from the Gulf War and 126 from the Cold War.

To all those who gave their lives and lay in unmarked repose; may your souls rest with God in eternal peace.

Oratorical - SCAL

Brathwaite, Lenore E < Lbrathwaite@northwell.edu>

Tue 10/31/2023 4:24 PM

To:kaeaton760@outlook.com <kaeaton760@outlook.com> Cc:mikebets@optonline.net < mikebets@optonline.net >

1 attachments (523 KB)

Flyer -Final 2023.docx;

Hi Kevin,

I will not be at our County meeting Friday.

Heading out the country on Thursday......Please highlight the following for Oratorical:

Competition Dates: Entry Deadline 11/27/2023

To date I have received NO students? UPDATE: GAELWENN POST 1244 HAS PROSPECTIVE VIODENS I also have (1) slot open for a SCAL member if they would like to be a Judge?

Thanks.

Fwd: VSO Northport, Report

jbeecher@optonline.net <jbeecher@optonline.net>

Fri 11/3/2023 1:55 PM

To:Eaton, kevin <Kaeaton760@outlook.com>

----- Original Message -----

From: jbeecher@optonline.net

To: nevlegion@aol.com; kgeod@optonline.net; tompost1006@yahoo.com; acgeno61@yahoo.com; paternosal@aol.com; militaryman32874@aol.com;

94bob@optonline.net; jbeecher@optonline.net

Sent: Friday, October 13, 2023 2:19 PM

Subject: VSO Northport

There have been outbreaks of COVID in the past 2 months, but all is quiet today. No COVID deaths reported. New vaccine is available, but it is not being advertised as availability is not good at this time. They get 100 doses and then have to ask for another 100.

On construction projects, specifically the parking lot, a structure was found during the excavation for new lot, and it caused issues as it became necessary to see if it caused any new environmental problems. None found, work has started again. (Apparently a building had been removed many years ago and it was then filled over, leaving part of foundation. Front door of hospital is getting finished, hopefully by end of this year.

Work on Patchogue CBOT is complete. The leases on Vally Stream and Bay Shore CBOT are ending, they are looking for new spaces in the same areas.

New fiscal year begins on October 1.

PACT Act has only generated about 1.9% increase in patient at VAMC. Other areas it id higher, especially in Florida.

Mobile units are available again, Outreach team to be contacted if interested.

Asked about "Buddy Checks" and it seemed that nothing was being done locally. They are aware of program. I thought it was a national program with the VA and American Legion

Suffolk County American Legion

PUFL'S

At 11/04/2023

2023-2024

						Total	Amt		Balance
Post	Name	Location	PUFL	Rat		Due	Paid	Date	Due
NY-0094	Babylon Inc	Babylon		22	4.00	88.00			88.00
NY-0155	William Merritt Hallock	Lake Ronkonkoma		16	4.00	64.00			64.00
NY-0185	Burton Potter	Greenport		6	4.00	24.00			24.00
NY-0269	Patchogue	Patchogue		24	4.00	96.00			96.00
NY-0273	Riverhead	Riverhead		10	4.00	40.00			40.00
NY-0281	Mitchell	Shelter Island		11	4.00	44.00			44.00
NY-0352	Leisure Glenn	Ridge		1	4.00	4.00	4.00	25-Oct	-
NY-0360	Huntington	Huntington		17	4.00	68.00			68.00
NY-0365	Bay Shore Inc	Bay Shore		2	4.00	8.00			8.00
NY-0388	Chelberg Battle Inc	Sag Harbor		9	4.00	36.00			36.00
NY-0411	Rusy-Bohm	Islip		8	4.00	32.00	44.00	3-Oct	(12.00)
NY-0417	Harbor	Setauket		23	4.00	92.00			92.00
NY-0419	East Hampton Town	East Hampton		16	4.00	64.00			64.00
NY-0432	Wilson Ritch	Port Jefferson Sta		37	4.00	148.00			148.00
NY-0433	Malcolm R White Inc	Southampton		4	4.00	16.00			16.00
NY-0651	Smith-Wever	Sayville		16	4.00	64.00			64.00
NY-0694	Northport	Northport		4	4.00	16.00			16.00
NY-0803	Griswold-Terry-Glover	Southold		12	4.00	48.00			48.00
NY-0833	James Ely Miller	Smithtown		14	4.00	56.00			56.00
NY-0834	Arthur Ellis Hamm	Westhampton		3	4.00	12.00			12.00
NY-0861	Raymond Cleaves	Mattituck		6	4.00	24.00	24.00	10-Oct	-
NY-0924	Hand-Aldrich	Hampton Bays		6	4.00	24.00			24.00
NY-0944	Donald C Munro Inc	Kings Park		13	4.00	52.00			52.00
NY-1006	Joseph Loeffler	Brentwood		16	4.00	64.00			64.00
NY-1015	Amityville	Amityville		4	4.00	16.00			16.00
NY-1039	Herold-Tierney	Central Islip		2	4.00	8.00			8.00
NY-1045	Alfred R Grebe Inc	Fishers Island		6	4.00	24.00			24.00
NY-1120	Feustel-Kurdt Inc	Lindenhurst		13	4.00	52.00			52.00
NY-1146	Joseph Kovarik	Bohemia		7	4.00	28.00			28.00
NY-1152	Sherwood Brothers	St James		7	4.00	28.00			28.00
NY-1218	Hunter-Squires-Jackson	Amityville		4	4.00	16.00			16.00
NY-1244	Greenlawn Inc	Greenlawn		10	4.00	40.00	36.00	30-Oct	4.00
NY-1533	Arthur H Clune	Mastic Beach		11	4.00	44.00			44.00
NY-1545	Eastport	Eastport		9	4.00	36.00			36.00
NY-1633	Selden	Selden		7	4.00	28.00			28.00
NY-1634	Sergeant John Sardiello			8	4.00	32.00			32.00
NY-1635	Four-S	East Islip		8	4.00	32.00			32.00
NY-1738	West Islip Inc	West Islip		10	4.00	40.00	40.00	12-Oct	
NY-1766	Irving Hart	Setauket L I		3	4.00	12.00			12.00
NY-1839	Wayne Middleton Inc	North Babylon		2	4.00	8.00			8.00
NY-1848	John R Cacioppo	Medford		8	4.00	32.00			32.00
3				415		1,660.00	148.00	-	1,512.00
								=	